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9.200 m
5.800 m
1.000 m
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2.670 m
m
2.200 m
m
2200 m
2200 m

m
m

9.80 kN/m2
2.000 m
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Tam

SL




tanepB) =

Q
I n

YC=
YS =
YSwW =

TTgl
L1 I 1 T A A | |

|
-+

Hb/V
Ng
Nr
Hb /7 V
Nq
Nr

30.000 <
)
0.000 <

30
10
15

0

0.16
24.50 kN/m2
18.60 kN/m2
9.80 kN/m2
19.60 kN/m2
9.80 kN/m2

9.800 kN/m3
45.000 <

0.000 m
1.0

1.0

9.800 kN/m3
0.000 kN/m2
0.500 m

3



FA = 15
FA = 1.2
QA= 200 kN/m2
QA= 300 kN/m2
’ = 12 cm
( ) T = 12 cm
( ) 7= 15 cm
ock = 24.00 N/mm2
SD345
o =[11800/N/mm2
o = 160.00 N/mm2
T = N/mm2
o = N/mm2
o = 270.00 N/mm2
T =[111059 N/mm2
15
( osa)/( Osa) (16875




4-1-1
4-1-2
4-1-3
4-1-4
4-1-5

4-2-1
4-2-2

4-2-3



5-1-1
5-1-2

5-1-3

6-1

6-2
6-3



(7 >

yC = 245
Vs = 18.6
YSwW = 9.8
= 19.6
A4 9.8
KH = 0.16
WBl1 = 2.670
wB2 = 2.200
WF1 = 2.200
WF2 = 2.200
v 9.80
2.000

12.0

12.0

15.0

ock 24.00

SD345

kN/m3
kN/m3
kN/m3
kN/m3
kN/m3

kN/m2

cm
cm

cm

N/mm?2



oca 8.00 N/mm2
osa 160 N/mma2
Ta 0.39 N/mm2

tanpB =

Y2 =

(

(

12.00

270

0.59

9.8

45.0

0.60

0.000

9.8

0.500

)

)

N/mm?2
N/mm?2
N/mm?2

kN/m3

kN/m3



| ii







4-1

4-1-1
500 2000
1:10 z
— M O =1}
\V/ \VAR
- 28§ o
| N N
(@)}
AN
ol O
By 3
é/ |
2500
)
(m) (m) (m) YcC (kN) (m) (m) |Mx(kN m)| My(kN m)
0500 *  2.400 * 1000 * 245 29.400 0.250[ 1.700 7350  49.980
2500 * 0500 * 1000 * 245 30.625 1250| 0.250| 38281 7.656
s 60.025 45631 57.636

Ncv = 60.025 kN
Nch = * 0.16

9.604 kN

0.760
0.960




(m) (m) (m) ve s1(kN) (m) (m)  [Mx(kN m)| My(kN m)
2000 * 0200 *1/2 * 1.000 18.6 3.720 1.833| 3.033 6.819| 11283
2000 * 0.230 * 1,000 18.6 8.556 1500 2785 12.834| 23828
2000 * 2170 * 1,000 19.6 85.064 1500 1585 127596 134.826
97.340 147249 169.938
Nsl= 97340 kN
( ) X= = > = 1513 m
( ) y= = > = 1746 m
(m) (m) (m) ve s2(kN) (m) (m) |Mx(kN m)|My(kN m)
2000 * 0200 *1/2 * 1.000 18.6 3.720 1.833| 3.033 6.819| 11283
2000 * 0.700 * 1,000 18.6 26.040 1500 2550/ 39.060|  66.402
2000 * 1.700 * 1,000 19.6 66.640 1500 1.350| 99.960|  89.964
96.400 145.839| 167.649
Ns2= 96400 kN
Nsh = s2 * 016
= 15424 kN
( ) X= = > = 1513 m
( ) y= = > = 1739 m




4-1-2

Q=q > Wg * L

X= 1.500 m

4-1-3

= 9.090

P o

@ o 0
@ a 60

P A
@ o 0

Wqg =

d2=
oel =
oe2 =
0.16

24.289
15.199

2000 m
1000 m
9.800 kN/m2

19.600 kN

30
5.711

30
10
15



al = 0.321

) a2 = 0.330

eal = 0.459

) ea2 = 0.480
KH'

KH' = (ys h +ysw hw+yw hw+q) 7/ (ys h +ysw hw +q) * KH

VS = 186 kN/m3
VSW = 9.8 kN/m3
YW = 9.8 kN/m3
= 0700 m
= 2200 m
q = 98 m
KH' = 0.238
00 = -1 h
= 13387
@ o 60 = 109
ea3 = 0.555

) ead = 0.563



g = 9.8 kN/m2
( ) Kal= 0321
H = 3100 m
( ) Sl-= 30
L = 1.000 m

h =q*Kal*H*cos(S1+i)*L 8.445 kN

v=g*Kal*H*sin(S1+i)*L 4.876 kN

>
"

2500 m

<
1

1550 m



( ) VS = 186 kN/m3

( ) VSW = 9.8 kN/m3
( ) Kal= 0.321
H1 = 0430 m
H2 = 2670 m
L = 1.000 m
( ) Sl= 30

pl=1vys*Kal * HL * L
P2 =ys * Kal * HL * L

p3 =p2 +ysw*Kal *H2 * L

Phl=1/2*{pl*HLl*cos(S1+i)+(p2+p3)*H2*cos(Sl+i)}

Pvli=1/2*{pl*HLl*sin(dl+i)+ (p2+p3)*H2*sin(Sl+i)}

>
"

2500 m

<
1

1111 m

2567 kN/m
2.567 kN/m

10.966 kN/m

16.124 kN

9.309 kN



YSw =
) Keal =

) Kea3 =
Hl= 0.900
H2 = 2.200
L = 1.000
oel = 15

pl=vys * Keal * H1 * L

p2 =vys *Kea3 *HL * L

p3 =p2 +Wysw *Kea3 *H2 * L

Ph2 =1/2 *{pl * H1 * cos(del+i)+(p2+p3) * H2 * cos(Sel+ i)}

Pv2 =1/2*{pl*Hl *sin(Sel+i)+ (p2+p3)*H2* sin(Sel+i)}

< X
1" "

2500 m
1100 m

18.6
9.8
0.459
0.555

kN/m3
kN/m3

7.684 kKN/m
9.291 kN/m

21.257 kN/m

35.798 kN

9592 kN



4-1-4

YW = 9.8 kN/m3
WB1 = 2670 m
WB1' = 0470 m
L = 1000 m
Whl =yw*(2*WB1-WB1l)*WBl'/2*L = 11.216 kN
Y = 1221 m
YW = 9.8 kN/m3
WB2 = 2200 m
WB2' = 0.000 m
Wh2 =yw*(2*WB2-WB2')*WB2'/2*L = 0.000 kN

Y = 0733 m



4-1-5

YW = 9.8 kN/m3
L = 1000 m
WB1 = 2670 m
WB1' = 0470 m
B= 2500 m
L = 1000 m
1=1/2*(2*WB1-WB1')*yw*B*L = 59.658 kN
X = 1290 m
YW = 9.8 kN/m3
L = 1000 m
WB2 = 2200 m
WB2' = 0.000 m
B= 2500 m
L = 1000 m
2=1/2*(2*WB2-WB2')*yw*B*L = 53900 kN

X = 1250 m



4-2-1

4-2-2

/
5800/  9.200 0.630

(kN) * Xm) | X(KN m)

60.025|  1.000| 60025 0760| 45619

97.340|  0630| 61.324| 1513] 92783

19600 0630 12.348| 1500] 18522

4876| 0630 3072| 2500 7680

9309 0630] 5865 2500 14663

-50658| 0630 -37.585| 1200 -48.485

105.049 130.782

(kN) * Ym) | YN m)

8445  0630] 5320 1550 8246

16.124| 0630 10158| 1.111| 11286

11216] 0630  7.066| 1221| 8628

22,544 28.160




X=( X- Y)/

= 0.977 m

=B/2-X

= 0.273 m
B/6= 0417 m
-B/6=-0417 m

SF={C*A+ *TAN(¢B)}/
= 279
TAN(@B) = 0.600

FA = 1.500

Ql=( /B*L)*(1+6* /B)

69.551 kN/m2

Q2=( /B*L)*(1-6* /B)

14.488 KkN/m2

QA= 20000 KkN/m2



4-2-3

(kN) * X(m) X(kN m)
60.025|  1.000{ 60.025 0760 45619
96400/ 0630 60.732 1513 91.888
9592|  0.630 6.043| 2500/ 15.108
-53900|  0.630| -33.957 1250 -42.446
92.843 110.169
)
(kN) * Y(m) Y(kN m)
( Kh= 0.16) 9.604|  1.000 9.604|  0.960 9.220
( Kh= 0.16) 15.424|  0.630 9.717 1739  16.898
35.798|  0.630| 22553 1.100|  24.808
0000  0.630 0.000[  0.733 0.000
41.874 50.926




X=( X- Y)/
= 0638m
=B/2-X
= 0612m
B/3= 0833 m
-B/3= -0833 m

SF={C*A+ *TAN(¢B)}/

1.330
TAN(pB) = 0.600

FA = 1.200

Ql=( /B*L)*(1l+6* /B)

91.684 kN/m2

Q2=( /B*L)*(1-6* /B)

-17.410 kN/m2

QA= 30000 KkN/m2



QU=Ae* (X *K*C*Nc+K*q*Nq+1/2*vy1*[B*Be*Nr)

(QA)
QA=QU/a

Qu (kN)
q (kN/m2)

qg=vy2*Df = 4900 KkN/m2
AV4 I 9.8 kN/m2
Y2 9.8 kN/m2
Ae (m2)
Be (m)

Be=B-2*eB
B (m)
eB m
Df (m) 0500 m
a3

o = 1.0
B= 1.0

K

K=1+0.3*Df/Be
DF' (m) 0.000 m
NC,NQNG :
a 3

2

tano® :

tan©@ = B/

(kN)

B : (kN)



Be = 1954 m
Ae = 1954 m2
k = 1.000
tan® = 0.215
Ng = 75.0
Nr = 80.0
= 2214.8 kN
= 738.27 kN = 105.049 kN
Be = 1276 m
Ae = 1276 m2
k = 1.000
tan® = 0.451
Ng = 35.0
Nr = 30.0
= 458.18 kN
= 229.09 kN = 92843 kN
4-4
(m)
(m) (kN/m2) | (kN)
CASE -1 0.273 2.796 69.551| 105.049
0.417 15 200| 738.265
CASE - 2 0.612 1.330 91.684 92.843
0.833 12 300| 229.088




5-1

a2

ea2

ead

0.330

0.480

0.563

5-1-1
(m) (m) (m) \ ¢(m2) (m) (m) | Mx(kN m| My(kN m)
0500 * 2.400 * 1.000 * 245 29.400 0.250 1.200 7.350 35.280
> 29.400 7.350 35.280
cv= 29400 kN
ch = c* 0.16
= 4704 kN
( ) y= = > c
= 1200 m
5-1-2




q = 9.8
( ) Ka2= 0.330
H = 2.400
( ) S2= 10
L = 1.000
h =g*Ka2*H*cos(®2+i)*L
( )
Y = 1200 m
( ) Ys = 18.6
( ) VSW = 9.8
( ) Ka2 = 0.330
H1= 0.230
H2 = 2.170
L= 1.000

pl=vwys*Ka2*Hl*L
p2 =vWys*Ka2 *Hl*L

p3=p2+wysw*Ka2z*H2*L =

kN/m2

m

m

kN/m3
kN/m3
kN/m3

PL =1/2*{pl*Hl*cos(d2+i)+(p2+p3)*H2*cos(S2+i)}

( )
Y =0848m

7.644 kN

1.412 kN/m
1.412 kN/m

8.430 kN/m

10.676 kN



( ) VS = 186 kN/m3

( ) VSW = 9.8 kN/m3
( ) Kea2=  0.480
( ) Kead=  0.563

( ) Se2 = 0

pl=vys*Kea2 *H1 * L = 6.250 kN/m

p2 =vys *Kead *HL * L = 7.330 kN/m

p3 =p2 +ysw *Kead * H2 * L = 16.710 kN/m
Ph2 = 1/2 *{ pl1 * H1 * cos(de2 +i) + (p2 + p3) * H2 * cos(SDe2 + i )} = 22.622 kN



5-1-3

YW = 9.8 kN/m3
WB1 = 217 m
WB1' = 047 m
L = 1000 m
Whl =yw*(2*WB1-WB1')*WBl'/2*L = 8.913 kN
( )
Y = 0972 m
YW = 9.8 kN/m3
WB2 = 170 m
WB2' = 000 m
L = 1000 m
Wh2 =yw™*(2*WB2-WB2')*WB2'/2*L = 0.000 kN

Y = 0.000 m



(kN) Y(m) Y(kN m)
7.644 1.200 9.173
10.676 0.848 9.053
8.913 0972 8.663
27.233 26.889
M = 26889 kNm
(kN) Y(m) Y(kN m)
4704 1.200 5.645
22.622 0.855 19.342
0.000 0.000 0.000
27.326 24.987

M = 24987 kN m



M = 26.889
S = 27233
B = 100
H = 50
D = 38
D'= 12
D 16

OocC =

oS =

o =

kN
kN

cm
cm
cm

cm

m

1.82

( CASE -
( CASE -

N/mm?2

96.2 N/mm2

0.07

N/mm?2

1
1

7944 cm

(oca=

(osa=

(Ta

8.00 N/mm2)
160.0 N/mm2)
0.39 N/mm2)



6-1

//////jij,/////””

gl g2° g2

500 2000
I
2500

1= 69551
2= 14488

= 2.500
2= 2.000

kN/m2
kN/m2
m

m

2=092+(gl-92)/B*h2

1=1/72*(9g2+q2")*h2

( )
= 0909 m

58.538 kN/m2

73.026 kN



1= 91684 kN/m2

2= -17.410 KN/m2
= 2101 m
2= 2.000 m

2=092+(gl-92)/B*h2 86.440 kKN/m2

2= 1/2*(gl+qg2")*h2 = 69.030 kN
( )
= 0875 m
= 2000 * 0500 * 1.000 * 245 = 24.500 kN
( )

= 1000 m



(m) (m) (m) Y (m2) (m)
2000 * 0200 / 2 * 1000 * 1860 3.720 1.333] 4959
2000 * 0.230 * 1000 * 1860 8.556 1.000| 8556
2000 * 2170 * 1000 * 19.60 85.064 1.000|  85.064
97.340 98.579
= 97340 kN
( ) X= = >
= 1013 m
(m) (m) (m) Y (m2) (m)
2000* 0200/ 2* 1.000* 1860 3.720 1.333] 4959
2000 * 0.700 * 1,000 * 18.60 26.040 1.000|  26.040
2000 *  1.700 * 1,000 *  19.60 66.640 1.000|  66.640
96.400 97.639
= 96400 kN
( ) X= = >

1013 m




Qq=

Wq =
L =
g=
q*Wg=*L
= 1000 m
Pvli= 9309 kN
)
X = 2000m
Pv2 = 9592 kN
)
X = 2000m

2.000
1.000
9.800

kN/m2

19.600 kN

4-1-3

4-1-3



S(kN) X(m) MX(KN m)
~73.026 0.909 -66.381
24,500 1.000 24,500
97.340 1.013 98.605
19.600 1.000 19.600

9.309 2,000 18.618
77.723 94.942
94.942 kN m
77.723 kN

S(kN) X(m) MX(KN m)
~69.030 0.875 -60.401
24,500 1.000 24,500
96.400 1.013 97.653

9.592 2,000 19.184
61.462 80.936
80.936 kN m

61.462 kN




6-6-3

M

M= 94942 kNm  (CASE -

26889 kN m

= 100
= 50
38

g U I w
I

= 12

oS

cm

cm

cm

cm

1.82 N/mm2
96.2 N/mm2

1 )
7944 cm2
(oca= 8.00 N/mmz2)
(osa= 160.0 N/mmz2)



S = 77723 kN ( CASE - 1 )
M = 94942 kN m
B = 100 cm
H = 50 cm
D = 38 cm
D'= 12 cm
tan(©)= 0.000
SH=S-M/D *tan(©) = 77723 kN

T=SH/(B*D) = 0205 N/mm2 (Ta= 0.39 N/mm2)



kN m 26.889 26.889
kN 27.233 49.300
cm 100.0 100.0
cm 50.0 50.0
cm 12.0 12.0

mm 16 4.00 16 4.00
cm2 7.94 7.94

0.0021 0.0021

N/mm2 OK 1.82 OK 1.82

N/mm2 OK 96.16| OK 96.16

N/mm2 0K 0.07] OK 0.13

N/mm2 8.0 8.0

N/mm2 160.0 160.0

N/mm2 0.39 0.39
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